Mathematics for Economists 1
Problems 6
Limit of a function 1

Find the limit of the given function in the given point(s).
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lim 2&, for a) # — +00, b) ¥ = —o0, ¢) x = 0,d) v = 3+, e) ¥ — 3—

lim #=2, for a) x — 400, b) = —00, ¢) & — 0+, d) © — 0—, €) z — 3

) £ — 400, b) x = —00, ¢) x = 2+4,d) v > 2—,e) . — —2

z+2
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lim fora)x—>+oo b) z - —o0,¢c)z = 24+,d) z = 2—,e) =0

=2, ) x — 400, b) x - —00,¢) x - —3+,d) v - —3—,¢) x — 1

lim 51 for a) © — +00, b) . — —o0, ¢) = 0+, d) 2 = 0—, ¢) 2 — 1

limﬁzié, for a) © — 400, b) 2 = —00,¢c) z — 0
lim 23 — 422 4+ 8z — 3, for a) x — +00, b) z — —00, ¢) z — 0

lim+vz? — 1, for a) x — 400, b) * = —00, ¢) x = 1+,d) z = —1—,e) 2 = 0

10. lim v/ + 3, for a)  — 400, b) z = —c©

11. lim—“”i%, for a) r — 400, b) z — —00,¢) r — 1+, d) . — 1—

12. hmjﬂ for a) x — 400, b) x = —00, ¢) x — 3+,d) r - —3—, e) v — 3—,

f) . — -3+

Solutions:

1. a)1,b)1,¢) -2, d) +oo, e) —o0,

2. a) —1,b) =1, ¢) 400, d) —o0, €) 3

3. a) —2,b) —2,¢) —o0, d) 00, e) —2

4. a) —oo, b) +00, ¢) —o0, d) +00, €) 1

5. a) +00, b) —o0, ¢) 400, d) —o0, e) —1

6. a)0,b)0,c)—o0,d) —o0,e)0

7. a)0,b)0,¢) 3

8. a) +oo, b) —o0, ¢) —3

9. a) +oo, b) +o0, ¢) 0, d) 0, ) not defined (0 is outside the D; and is not an
endpoint of Dy)

10. a) 400, b) —

11. a) 1,b) —1, ¢) +oo, d) —c0

12. a)4,b) —4, ¢) 400, d) —o0, e)+f) not defined (in both cases is x outside of

Dy)



